Chapter 9. Elimination Rxns and Wrapup Problem Set

1a.  Circle all the hydrogens in the following molecule that are beta to the leaving group:
CH3_CH2_CHBr_CH3
1b.  For each hydrogen that you have circled, draw the product that would form if that hydrogen were removed in an elimination reaction.  (Note:  there are three possible products.)

1c.  Which of the three products will predominate?  Why?

2.  For each of the following reactions, determine whether the elimination will be E2 or E1.

2b. Draw the product(s) that forms in each case:
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3.  For each of the following reactions, determine which mechanism(s) predominate and what product(s) form:
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